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XARİCİ DİLLƏR ÜZRƏ 
TAPŞIRIQ NÜMUNƏLƏRİ

 

ENGLISH 
LISTENING COMPREHENSION 

Listen to the passage and answer 
questions 1 – 5. 

QEYD:  Müvafiq audiofayl 
abiturient.az/mp3/doktorantura_2024/ingilis-1.mp3  
linkinə  yerləşdirilmişdir.   
(Соответствующий аудиофайл представлен на сайте 
abiturient.az/mp3/doktorantura_2024/ingilis-1.mp3)  

  QR kodu skan etməklə müvafiq 
audiofayl yerləşdirilmiş 
səhifəyə birbaşa keçə bilərsiniz.  
(На страничку с 
соответствующим 
аудиофайлом можно сразу 
перейти, просканировав 
указанный QR-код.) 

1. Which of the following questions does the
passage answer?
A) Who  was the first GPS-like system

developed by?
B) How many military ships used the first

GPS ?
C) Where were the first emergency telephone

operators developed?
D) What was the rental car company called?

2. Choose the correct statement according to the
passage.
A) Ships could completely depend on the first

GPS in emergency situations.

B) After years of research it was possible to
introduce a complete set of satellites.

C) No more satellites were needed for the GPS
developed by U.S. Navy. 

D) The Court agreed that the use of
computerized maps was unacceptable.

3. Complete the sentence according to the
passage.
Emergency telephone operators use GPS to … .
A) find where each car is at any time
B) prevent a dangerous situation on military

ships
C) find out exactly where the calling person is
D) find out the telephone number of people

who have called

4. Complete the sentence according to the
passage.
In 2005 … .
A) twenty-four satellites were introduced to

the U.S. Navy
B) the case concerning the use of GPS was

presented for judgement in the Court
C) the U.S. Navy developed ships with GPS

receivers
D) emergency telephone operators were used

in the world for the first time

5. Answer the question according to the passage.
Why did a rental car company mainly use GPS
technology?
A) to prevent car crashes at any time
B) to send signals to telephone operators
C) to protect people’s rights to privacy
D) to stop their customers from driving too

fast



 

  

59 
   

Listen to the dialogue and answer  
questions 6 – 10. 
 

QEYD:  Müvafiq audiofayl  
abiturient.az/mp3/doktorantura_2024/ingilis-2.mp3  
linkinə  yerləşdirilmişdir.   
(Соответствующий аудиофайл представлен на сайте 
abiturient.az/mp3/doktorantura_2024/ingilis-2.mp3)  

      QR kodu skan etməklə müvafiq 
audiofayl yerləşdirilmiş 
səhifəyə birbaşa keçə bilərsiniz.  
(На страничку с 
соответствующим 
аудиофайлом можно сразу 
перейти, просканировав 
указанный QR-код.)  

 

6. Complete the sentence according to the 
dialogue. 
According to the UNESCO report … . 
A) most speakers of the Maori language are 

younger than 30 
B) more than 3000 languages are at a risk of 

dying out 
C) the Welsh language will probably be 

spoken in neighbouring  countries  
D) there are less than 6000 languages in the 

world 
 

7. Which of the following questions does the 
dialogue answer? 
A) How many speakers of the Ainu language 

are there? 
B) What languages were spoken in Italy 

before? 
C) Who was the Welsh language board 

established by? 
D) How much money is spent on the 

protection of the Italian language? 
 

8. Complete the sentence according to the 
dialogue. 
One language becomes extinct ... . 
A) every two months 
B) when people keep it alive 
C) when it becomes a part of culture 
D) every two weeks 

 

9. Answer the question according to the dialogue. 
What happens when nobody wants to speak 
the language? 
A) It never dies out.  
B) It becomes more active. 
C) It definitely survives. 
D) It becomes extinct. 

 

10. Choose the correct statement according to 
the dialogue. 
A) Ann thinks that people do not need 6000 

languages. 
B) Tom thinks that everyone in the world 

should speak the same language. 
C) Over half of the Welsh population speak 

Welsh. 
D) The Welsh language board failed to protect 

Welsh. 
 

READING COMPREHENSION  
 

For questions 11-20, read the text below 
and decide which answer (A, B, C or D) 

best fits each gap. 
 

A new culture of work has been 
spreading around workplaces worldwide. 
Workers are increasingly (11)_____ the idea of 
“quiet quitting”. This is when (12)_____ stop 
doing things that are not mentioned in their 
contract. The website entrepreneur.com 
(13)_____ quiet quitting as follows: “Quiet 
quitting is the process of coming to work 
(14)_____ the minimum requirements of your 
role in the time that you're there, then 
leaving”. It added that workers do not offer 
(15)_____ overtime, do not do duties not in 
their contract, and do not go “the extra mile”. 

Quiet quitting (16)_____ in popularity 
since the coronavirus pandemic. People want 
a better work-life balance. Workers are 
abandoning unpaid duties they once 
(17)_____ carried out in their workplaces. 
Some employers (18)_____ with what is being 
termed as “quiet firing”. This is (19)_____ 
bosses try to get employees to leave. A 
LinkedIn (20)_____ found that 48 per cent of 
employees in a survey have seen quiet firing 
in the workplace. 

 
11. A) accepting         B) thinking 

C) guessing              D) covering 
 
12. A) workplaces          B) employers  

C) workers             D) companies 
 
13. A) puts  B) addresses   

C) defines  D) focuses 
 
14. A) having achieved  B) achieving  

C) to achieve  D) to achieving 
 
15. A) to do  B) do 

C) to have done  D) to having done 
 
16. A) increased  B) has increased  

C) has been increased  D) is increasing 
 
17. A) hopelessly  B) voluntarily  

C) especially  D) essentially 
 
18. A) are responding  B) are accepting  

C) are hiring  D) are conducting 
 
19. A) what B) that  

C) which  D) when  
 
20. A) selection  B) notice  

C) poll  D) recording 
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For questions 21-25, read the article 
below and answer the questions. 

 

The mystery behind thundersnow, a rare 
winter phenomenon adapted from 
https://www.nationalgeographic.com 

 

Dr. Patrick Market and other scientists have 
shown that thundersnow—which is when 
thunder and lightning occur during a 
snowstorm—is a rare winter weather 
phenomenon with serious consequences. In fact, 
Dr. Market’s 2006 study showed that 86 percent 
of thundersnow events were related to storms 
that caused more than six inches of snowfall in a 
24-hour period. 

Until the last 20 years, researchers couldn’t 
even reliably identify thundersnow. With new 
technology monitoring weather from space, we’re 
learning more about thundersnow than ever. The 
research done by Dr. Market will have real-life 
impacts on public safety, from creating warning 
systems to even changing control for when to fly 
planes and launch rockets. 

Scientists believe that thundersnow is caused 
by the same conditions as a summer 
thunderstorm. But Sebastian Harkema, a Ph.D. 
candidate at the University of Alabama who 
studies thundersnow, says we don’t really know 
for sure how or why this process occurs in the 
wintertime. 

Thundersnow has been a challenge for 
researchers to truly understand in part because 
it’s a rare phenomenon. We mostly only knew 
about thundersnow through people who saw 
lightning or heard thunder during a snowstorm 
in the decades before Dr. Market began 
researching it. Yet reports of thundersnow have 
increased since then. “It seems like every two 
weeks in the wintertime somebody posts a video 
to their Instagram,” he says. “Is it really 
happening more or are we observing it more?” 

Both things might be true. Harkema’s work 
has shown that tall radio towers that conduct 
electricity may be responsible for generating 
more thundersnow in urban areas.  

The presence of everyday technology like 
doorbell cameras has made it easier to capture 
images of a storm for the safety of our own 
home. Most importantly, scientists have now 
found ways to detect thundersnow without 
hearing a sound. Sensors for detecting lightning 
has improved over the years and satellite 
imagery has now made it possible to see where 
lightning is occurring from space. These new 
technologies are helping scientists identify 
exactly where thundersnow is happening.  

Harkema also adds that in the United States 
thundersnow is particularly common in the 
Colorado Front Range, upper Great Plains, and 
the Great Lakes where wind turbines generate 
electricity. But thundersnow can happen 
anywhere – even in the relatively warm Alabama.  

Research like Harkema’s is important to 
getting to the point where we can better predict 
when thundersnow will happen. It will help 
develop better warning systems for people to 
seek shelter from larger flashes of lightning.  

21. Complete the sentence according to the 
passage. 
According to Dr Market’s 2006 study … .  
A) six inches of snow in a day is enough to 

cause thunderstorm events 
B) a great majority of thundersnow incidents 

were associated with storms 
C) 86 percent of thundersnow incidents 

happened just in a 24-hour period 
D) there is an 86 percent chance that 

thundersnow incidents occur 
 
22. Answer the question according to the 

passage. 
How have technological advancements helped 
to detect thundersnow? 
A) Doorbell cameras has made it easier to 

predict thundersnow. 
B) Due to satellite imagery it is possible to see 

lightning strikes from space.  
C) Tall radio towers give opportunity to spot 

storms in advance. 
D) Increasing number of wind turbines 

enables to detect them. 
 
23. All of the following statements are true 

EXCEPT: 
A) Technology has now made it possible to 

detect thundersnow. 
B) Records about thunderstorm have 

increased recently. 
C) Thundersnow is a usual occurrence 

because it can happen all year round. 
D) Thundersnow can occur where heavy snow 

is falling. 
 
24. Which of the following questions does the 

passage answer? 
1. What made it possible to learn more about 

thunderstorm? 
2. What measures should be taken to prevent 

thundersnow? 
3. When did Harkema start to study 

thunderstorm? 
4. In what parts of the US thundersnow is 

most common? 
5. How many wind turbines are there in the 

US? 
A) 1, 2          B) 2, 5          C) 3, 5          D) 1, 4 

 
25. Choose the correct statements according to 

the passage. 
1. Research conducted by Dr. Market will 

greatly influence public safety. 
2. The trigger for thundersnow during 

wintertime has been identified by 
Herkema’s research. 

3. Thundersnow is observed only in cold 
weather. 

4. Thundersnow events were quite frequent in 
the past. 

5. Creating better warning systems can help 
to predict heavy thundersnow. 

A) 1, 3          B) 2, 4          C) 3, 5          D) 1, 5 
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For questions 26 – 30, read the text below 
and choose one from the sentences A-F the 
one which fits each gap. There is one extra 
sentence which you do not need to use.  
 

Missing masterpieces adapted from 
https://www.smithsonianmag.com 

Natural disasters, the damaging effects of 
time and theft have threatened the works of art 
made by artists through the ages. 26……. . 
These masterpieces are kept in attics and 
basements, awaiting the day that their genius 
will once again be recognized. 

One such interesting discovery was reported, 
when an oil-on-canvas of Mary and Jesus sold at 
auction for around $320,000. Painted by a 
follower of Renaissance artist Filippino Lippi, the 
artwork had spent years hanging in an elderly 
woman’s London bedroom. 27……. . “I was 
absolutely shocked when I saw this early 
religious painting hanging above her bed,” said 
head valuer in a statement. Incomes from the 
sale helped cover medical bills for the painting’s 
owner, a 90-year-old Italian woman who had 
inherited the work from her father more than 30 
years prior. Other long-lost art found hiding 
included a 17th-century masterpiece painted by 
a Dutch artist which had “gathered dust” at the 
Woodford Academy in Australia for the past 150 
years. 

28……. . Seven years ago, in September 2017, 
Connecticut mechanic Jared Whipple found 
hundreds of artworks in a waste bin at an 
abandoned farmhouse. He took them home and 
initially wanted to use them as Halloween 
decorations, but then he realized that they were 
the works of Abstract Expressionist artist. After 
conducting extensive research on the artist’s life, 
Whipple eventually contacted Hines’ family. They 
gave Whipple permission to keep the work and 
he then decided to plan a major showcase of the 
masterpiece.  

A less dramatic, but equally unexpected 
cultural finding was centered on a musical 
recording owned by journalist Paul Salsini. 
29……. . The missing object, which had fallen 
onto the shelf below, turned out to be a CD 
including tracks from Phinney’s Rainbow, one of 
Stephen Sondheim’s first musicals. Salsini 
donated the disc to the Sondheim Research 
Collection, where it was be available for public 
listening.  

While some artworks appeared by chance, 
others showed up through technological analysis 
and scholarship. 30……. . Researchers have 
revealed previously unknown pieces by artists 
ranging from Vincent van Gogh to Pablo Picasso. 
Advanced imaging tools uncovered hidden 
scenes in famous artworks, by Paul Cézanne’s 
Still Life with Bread and Eggs masterpiece, too.  

 

A. That’s where head valuer at Dawsons 
office, noticed it while conducting a routine 
valuation.  

 
B. In recent years, these kinds of discoveries-

works that famous artists painted have 
become much more common.  

 
C. While countless masterpieces have 

disappeared over the times, many others 
remain hidden away.  

 
D. Scholars also value millennia-old artworks 

created by anonymous artists who 
unintentionally presented their 
masterpieces. 

 
E. One day, he was reorganizing his office 

when he noticed a gap on his bookstand.  
 
F. Luck played a considerable role in the 

rediscovery of multiple missing 
masterpieces revealed this year.  
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WRITING  
 

1. Describe the information given in the bar graph in English. 
 

The bar chart below gives information about the age range of Internet users (expressed in 
percentages) in Azerbaijan in the years of 2013-2020. Describe the information given in the bar  
chart in English. 
 

While describing the visual information you should: 
 

● distinguish between the components (introduction, body paragraphs and conclusion) of the 
written description and use paragraphing appropriately; 

● follow the word limit (150-180 words); 
● use a formal register; 
● summarise the information by selecting and reporting the main features; 
● make comparisons where relevant and appropriate; 
● sequence information and ideas in an organised and logical way; 
● avoid giving personal opinions on the data; 
● use a wide range of vocabulary and grammatical structures with flexibility and accuracy. 

 
 

The age range of Internet users (expressed in percentages)  
in Azerbaijan in the years of 2013-2020 
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ESSAY 
 

  

2. Choose one of the given topics, show its number in the box below and write an essay about it in 
English.  

 
1. People have different ways of escaping the stress and difficulties of modern life. Some read, some 

exercise, others work in the garden. Compare these ways of reducing stress and explain your 
preference.  

 

2. Some people claim that public libraries will never disappear, while others think that we no longer 
need them, and they will be closed in near future. Which view do you agree with? Use specific 
reasons and examples to support your opinion. 

 

While writing an essay you should: 
● have a clear, transparent structure consisting of an introduction, body paragraphs and a 

conclusion using an appropriate paragraphing; 
● create a coherent and cohesive text by using a variety of organizational patterns; 
● follow the word limit (200-250 words); 
● produce an original text in a formal register; 
● give relevant supporting evidences from various sources for your reader; 
● state your personal opinion on the topic and several reasons to support it; 
● provide set of reasons and relevant examples to express an opposing opinion; 
● sequence the information and ideas in an organized and logical way; 
● use a wide range of vocabulary and grammatical structures with flexibility and accuracy. 
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SPEAKING 

Task 1 
 

 

1. Describe the picture. 
2. What are advantages and disadvantages of working in open-plan offices? 
3. Which type of office would you work best in? Why? 
 
 
Task 2 
It is claimed that children should be given homework in schools. 
 

FOR AGAINST 

1. It develops independence, time 
management, research, and planning skills. 

1. It may make learners stressed out and 
tired. 

2. It helps to improve academic achievement. 2. It can consume a great deal of time. 

3. It creates a sense of responsibility for 
learning. 

3. Its burdens can demotivate learners. 

 

 
 
Task 3 
“In future, children will study independently, without going to schools”. 
What is your response to this statement? 
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DEUTSCH 
 

 
HÖRVERSTEHEN  

 
Hören Sie den Text und antworten  
Sie auf die Fragen 1 – 5. 
 
QEYD:  Müvafiq audiofayl  

abiturient.az/mp3/doktorantura_2024/alman-1.mp3  
linkinə  yerləşdirilmişdir.   
(Соответствующий аудиофайл представлен на сайте 
abiturient.az/mp3/doktorantura_2024/alman-1.mp3)  

      QR kodu skan etməklə müvafiq 
audiofayl yerləşdirilmiş 
səhifəyə birbaşa keçə bilərsiniz.  
(На страничку с 
соответствующим 
аудиофайлом можно сразу 
перейти, просканировав 
указанный QR-код.)  

 
 

1. Welche Aussage passt zum Text? 
A) Die Rückkehr der Wölfe nach 

Ostdeutschland wurde meist begrüßt. 
B) Die Nähe des Menschen hat die Wölfe 

früher gestört. 
C) Wölfe haben in Deutschland kaum eine 

Überlebenschance.  
D) Es ist schwer, korrekte Information über 

die Wölfe in Deutschland zu bekommen.  
 

2. Ergänzen Sie den Satz. 
Die Erfahrungen in anderen europäischen 
Ländern zeigen, dass … . 
A) sich die Menschen mit dem deutschen 

Wolfsgebiet beschäftigen sollten 
B) der Naturschutzbund Workshops zum 

Thema „Wolf“ veranstalten sollte 
C) sich Wölfe in verschiedenen Lebensräumen 

einleben können 
D) Daten über die Wölfe an Wissenschaftler 

weitergeleitet werden müssen. 
 

3. Ergänzen Sie den Satz. 
Es entscheidet sich in den Köpfen der 
Menschen,  ob Wölfe ... . 
A) auch in Polen, Spanien oder Rumänien 

leben 
B) in Deutschland eine Möglichkeit zum 

Überleben haben 
C) in den Bundesländern keine geeigneten 

 Lebensräume finden  
D) ihre Jungen ungestört aufziehen können 

 

4. Antworten Sie auf die Frage. 
Worüber wird die Bevölkerung im Internet 
informiert? 
A) Im Internet wird die Bevölkerung über 

verschiedene Bundesländer informiert. 

B) Im Internet wird die Bevölkerung über 
Workshops und Tagung informiert.  

C) Die Bevölkerung wird im Internet über die 
Wölfe informiert. 

D) Die Bevölkerung wird im Internet über 
Märchen informiert.   

 

5. Welche Frage wird im Text beantwortet? 
A) In welchen Ländern haben die Wölfe 

geeignete Lebensräume? 
B) Warum veranstaltet der Naturschutzbund 

Workshops? 
C) Warum können sich die Wölfe 

verschiedenen Lebensräumen anpassen? 
D) Warum sind die Reaktionen auf die 

Rückkehr der Wolfe positiv? 
 

 

 

 
 

Hören Sie den Dialog und antworten  
Sie auf die Fragen 6 – 10. 
 

QEYD:  Müvafiq audiofayl  
abiturient.az/mp3/doktorantura_2024/alman-2.mp3  
linkinə  yerləşdirilmişdir.   
(Соответствующий аудиофайл представлен на сайте 
abiturient.az/mp3/doktorantura_2024/alman-2.mp3)  

      QR kodu skan etməklə müvafiq 
audiofayl yerləşdirilmiş 
səhifəyə birbaşa keçə bilərsiniz.  
(На страничку с 
соответствующим 
аудиофайлом можно сразу 
перейти, просканировав 
указанный QR-код.)  

 
6. Welche Frage wird im Dialog beantwortet? 

A) Warum gibt es zurzeit nur eine 
Bewerbungsform? 

B) Was für E-Mail-Adressen landen oft in 
Spam-Filtern? 

C) Seit wann ist die Online-Bewerbung im 
Trend? 

D) Wann kann man Bewerbungen online 
schicken? 

 

7. Ergänzen Sie den Satz dem Dialog 
entsprechend. 
Viele Unternehmen bieten eigene 
Bewerbungsformulare, ... . 
A) damit die Personalabteilungen weniger 

Arbeit haben 
B) damit sich nicht mehrere Bewerber um die 

gleiche Stelle bewerben können 
C) um Zeugnisse und Lebensläufe direkt dem 

Vorgesetzten schicken zu können 
D) damit die Bewerber ihre Unterlagen 

leichter an andere Unternehmen schicken 
können 
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8. Welche Aussage ist richtig?
A) Sowohl der Inhalt als auch die Form der

Bewerbung ist wichtig.
B) Bei der Papierbewerbung legt man nicht

alle Zeugnisse bei.
C) Bewerbungen mit großer Datenmenge sind

heute kein Problem.
D) Der Arbeitgeber interessiert sich in der

Regel nicht für die bisherige Stelle des
Bewerbers.

9. Welchen Tipp gibt Herr Weithofer für die
Bewerbung?
A) Online-Formulare erleichtern den

Bewerbern die Bewerbung.
B) Der Anhang der E-Mail sollte möglichst

klein sein.
C) Um Beachtung zu finden, ist vor allem die

Form wichtig.
D) Man sollte eine passende E-Mail-Adresse

auswählen.

10. Was unterscheidet die Bewerbung per E-Mail
von der Bewerbung per Post?
A) Sie wird von den Personalverantwortlichen

nicht so ernst genommen.
B) Ein Foto ist für diese Bewerbungsform

besonders wichtig.
C) Sie enthält sowohl ein Anschreiben, als

auch alle Zeugnisse.
D) Diese Bewerbungsform enthält weniger

Dokumente.

LESEVERSTEHEN 

Lesen Sie den folgenden Text und 
entscheiden Sie, welches Wort (A, B, C 
oder D) in die jeweilige Lücke (11 – 20) 

passt. 

Das Klima hat sich schon immer 
verändert. Es steht außer Frage, wer dafür 
(11)_____ ist. In Deutschland verbrauchen wir 
heute (12)_____ so viel Wasser wie noch vor 
70 Jahren. Außerdem essen wir heute große 
(13)_____ Fleisch, ungefähr 60 kg Fleisch pro 
Person im Jahr. Und die (14)_____ von Fleisch 
verbraucht extrem viel Wasser. (15_____ 
anderer Grund (16)_____ den Klimawandel ist 
der Transport von Waren (17)_____ den 
ganzen Planeten. Das kostet sehr viel 
Energie. Der Kampf beginnt zu Hause. Jeder 
Mensch sollte (18)_____ achten, was und 
wieviel er (19)_____ jedem Tag verbraucht. 
Und wenn man sich die Zähne putzt, dann 
sollte man das Wasser abstellen. Man könnte 
auch (20)_____ Fahrrad oder U-Bahn fahren 
und das Auto einfach stehen lassen. Das sind 
nur ein paar von vielen Möglichkeiten.  

11. A) wichtig B) dankbar
C) verantwortlich D) entscheidend

12. A) mehr B) doppelt
C) mindestens D) einsam

13. A) Stück B) Zahlen
C) Menge D) Gewichte

14. A) Verdauung B) Konsum
C) Beschaffung D) Produktion

15. A) Einen B) Einer
C) Eines D) Ein

16. A) mit B) für
C) unter D) an

17. A) entlang B) gegen
C) über D) an

18. A) darauf B) daran
C) dadurch D) dafür

19. A) an B) pro
C) ohne D) für

20. A) mehr B) weniger
C) viele D) neues

Lesen Sie zuerst den Text und lösen Sie
dann die Aufgaben (21 – 25) zu dem Text.

Im Jahr 2019 gab es in Deutschland 
ungefähr 76 Millionen Fahrräder. Autos gab 
es „nur“ 48 Millionen. Heute werden 
Fahrradwege verstärkt ausgebaut, Vereine 
und Verbände machen sich für Fahrradfahrer 
stark und Fahrrad-Urlaube sind ein Trend. 

Morgens in die Arbeit, zum Einkaufen 
oder durch die Stadt – das Fahrrad setzt sich 
durch und ist beliebter als früher. Die 
Auswahl an Rennrädern, E-Bikes, 
Lastenfahrrädern oder anderen Modellen ist 
groß.  

Noch nie war Radfahren in Deutschland 
also so beliebt. Jährlich werden über vier 
Millionen Fahrräder verkauft, wobei man den 
Umsatz an Fahrrädern mit Elektroantrieb, 
den E-Bikes, nicht vergessen darf, der 
kontinuierlich ansteigt.  

Früher war mit dem Pferd unterwegs, wer 
es sich leisten konnte. Doch Pferde mussten 
gefüttert werden und aufgrund sehr 
schlechter Ernten war Futter für die Pferde 
oft teuer und knapp. I817 entwickelte der 
Karlsruher Karl Drais eine Laufmaschine mit 
zwei Rädern, aber noch ohne Pedale. Der 
Fahrer saß auf dem Rahmen und bewegte 
sich mithilfe seiner Beine. Jetzt konnte man 
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ganz ohne Pferdekraft 15 Kilometer in einer 
Stunde zurücklegen. 

40 Jahre später wurde der Pedalantrieb 
erfunden, gefolgt von den Hochrädern, 
Fahrrädern mit einem riesigen Vorderrad und 
einem kleinen Hinterrad. Durch die 
unterschiedliche Größe der Räder war es 
möglich, mit einer Bewegung eine viel größere 
Strecke zurückzulegen. Aber man musste 
schon sehr geübt sein, um mit diesen Rädern 
fahren zu können. Denn sie waren sehr 
unsicher und gefährlich. Durch die 
Entwicklung des Kettenantriebs wurde das 
Ende dieser Hochräder eingeläutet. Jetzt war 
es möglich, Vorder- und Hinterrad gleich groß 
anzufertigen und trotzdem schnell 
voranzukommen. Zu dieser Zeit war das 
Fahrrad alles andere als ein Massenartikel. 
Für die meisten Menschen war es damals 
unbezahlbar. 

Am Anfang des 20. Jahrhunderts wurde 
Mobilität dann immer wichtiger. Die Arbeiter 
mussten zu den Fabriken kommen können, 
und das Fahrrad wurde immer beliebter. 
Durch die Fließbandproduktion konnte die 
Stückzahl der hergestellten Fahrräder 
beträchtlich gesteigert werden. Dadurch 
konnten auch die Preise sinken. Die 
Begeisterung für das Radfahren änderte sich 
in den 1950er Jahren, als sich Deutschland 
zum Autoland entwickelte, denn zum 
Wirtschaftswunder gehörte es, im Besitz 
eines eigenen Volkswagens zu sein. 

Nach den Ölkrisen in den 1970er Jahren 
und einem zunehmenden Bewusstsein für die 
Ökologie erlebte das Fahrrad seinen zweiten 
Boom. Immer mehr Radwege wurden 
angelegt. Trotzdem muss hier noch einiges 
getan werden. Die Entwicklung schneller und 
sicherer Radschnellwege, durch die mehrere 
Hundert Kilometer voneinander entfernte 
Städte miteinander verbunden werden, steckt 
noch in den Anfängen. 

Und die Zukunft des Fahrrads? Man ist 
sich ziemlich sicher, dass aus dem Fahrrad 
ein Smart-Bike werden wird: ein Fahrrad, das 
mit einem Navigationssystem ausgestattet 
und durch Apps mit zahlreichen Funktionen 
vernetzt ist. Und es wird immer mehr 
Ausleihsysteme geben. Nicht nur für 
Fahrräder, auch für E-Bikes. 

 

 
21. Welche Frage wird im Text beantwortet? 

A) Welche Probleme bringt die Globalisierung 
für das Fahrrad? 

B) Welche Rolle spielen deutsche Ingenieure 
bei der Entwicklung des Fahrrads? 

C) Wie kommen deutsche Arbeitnehmer zu 
ihrem Betrieb? 

D) Wie verläuft die Geschichte des Fahrrads? 
 

22. Welche beiden Aussagen stehen im Text? 
1. Fahrrad-Urlaube verloren in letzten Jahren 

ihre Popularität. 
2. Die Auswahl an verschiedenen Fahrrädern 

hat abgenommen.  
3. In Deutschland werden immer mehr 

Fahrräder verkauft. 
4. Laut aktuellen Zahlen gibt es in 

Deutschland weniger Autos als Fahrräder. 
5. In naher Zukunft hat das Fahrrad keine 

Pedale mehr.  
A) 2, 4         B) 1, 2         C) 3, 5         D) 3, 4 

 

23. Welche Aussage ist falsch? 
A) Durch die unterschiedlich großen Räder 

bei frühen Fahrrädern konnte man einen 
längeren Weg als zuvor fahren. 

B) Die Laufmaschine von Karl Drais besaß 
erstmals ein Pedal.  

C) Man brauchte genügend Erfahrung, um 
ein Hochrad zu fahren.  

D) Es gab immer wieder Probleme und Unfälle 
mit Hochrädern.  

 

24. Ergänzen Sie den Satz dem Text 
entsprechend. 
Das Fahrrad wurde am Anfang des 20. 
Jahrhunderts immer beliebter, ... . 
A) weil die neuen Fahrräder weniger Kraft 

benötigten 
B) weil das Fließband erfunden wurde 
C) denn es werden immer mehr Fahrräder 

produziert 
D) weil die Mobilität wichtiger wurde 

 

25. Was erwartet man für die Zukunft des 
Fahrrads? 
A) Es wird ausschließlich keine E-Bikes 

geben. 
B) Es wird digital und daraus S-Bikes 

werden. 
C) Navigationssysteme und andere Apps 

werden voneinander getrennt. 
D) Die Entwicklung von Radwegen wird 

anfangen. 
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Lesen Sie den Text- Welche der Sätze A – F 
gehören in die Lücken 26 – 30? Es gibt nur 
eine richtige Lösung für die jeweilige Lücke 

zu dem Text und einen Satz können Sie nicht 
zuordnen. 

 

26…….. . Er arbeitet beim TÜV 
(Technischer Überwachungsverein), einer 
Organisation, die viele Dinge auf ihre Sicherheit 
hin prüft. Wie zum Beispiel Autos, Möbel, 
Küchengeräte – und eben auch Spielzeug. Mit 
Feuer, Zange und Schere stellt er zusammen mit 
50 anderen Angestellten fest, ob und wie 
gefährlich ein Spielzeug für Kinder sein kann. Es 
gibt natürlich Regeln von der EU, wie Spielzeug 
sein muss. Aber nur, wer sich in ein Kind 
hineinversetzen kann, kann sich vorstellen, was 
es mit einem Spielzeug alles machen könnte. 

Für Spielzeughersteller ist es nicht 
obligatorisch, ihre Produkte vom TÜV prüfen zu 
lassen, aber fast niemand traut sich, es nicht zu 
tun. Sollte sich nämlich ein Kind an einem 
Spielzeug wehtun oder sogar verletzen, dann ist 
der Produzent schuld. 

Heute testet Sven, wie schnell ein Teddy 
Feuer fängt. 27……. . Schon fangen die ersten 
Haare des Kunstfells Feuer. Jetzt geht es darum, 
wie schnell sich die Flamme ausbreitet oder ob 
sie vielleicht von selbst wieder ausgeht. Denn 
wenn so ein Plüschtier zum Beispiel an der 
brennenden Kerze am Weihnachtsbaum Feuer 
fängt, muss das Kind noch genug Zeit haben, 
das Tier wegzulegen oder die Flamme mit den 
Eltern zu löschen. Andernfalls ist es für Kinder 
nicht geeignet.  

Nun folgt ein weiterer Test. 28……. . Ein 
Teil der Maschine greift das Auge des Teddys 
und zieht zehn Sekunden lang so fest daran, wie 
ein wütendes Kind es tun könnte. Das Auge darf 
sich nicht lösen, wenn der Bär den Test bestehen 
will. Auch die Nase muss fest sitzen, sodass kein 
Kind sie abreißen und verschlucken kann, wenn 
es das Spielzeug in den Mund nimmt. 29…….  . 

Der nächste Schritt führt ins Chemielabor. 
Hier will man prüfen, ob das Material chemische 
Stoffe enthält, die krank machen können. Dem 
Teddy werden die Ohren abgeschnitten, in kleine 
Teile zerlegt und in Glasröhrchen gefüllt. Dann 
werden verschiedene Flüssigkeiten dazu 
gegeben, die wirken sollen wie z.B. Spucke oder 
Schweiß. 30……. . Weil man von manchen 
Stoffen krank werden kann, dürfen die sich nicht 
lösen. 

Auch diesen Test besteht der Bär und gilt 
nur als sicheres Spielzeug, das seinen Weg ins 
Spielzeuggeschäft schafft. Den verbrannten und 
kaputten Fellhaufen will nun aber sicher kein 
Kind mehr haben. 

 

A. So wird geprüft, was mit dem Material 
passiert, wenn man es in den Mund nimmt 
oder verschluckt. 

 
B. Sven R. ist von Beruf Spielzeugtester, 

obwohl die Bezeichnung Spielzeugzerstörer 
passender wäre. 

 
C. Der Teddy kommt in eine Maschine, wo ihn 

eine Zange festhält. 
 
D. Das tun ja besonders kleine Kinder gern. 
 
E. Der Bär ist an ein Stück Eisen gebunden, 

wenige Zentimeter entfernt brennt eine 
Flamme. 

 
F. Um mehr Teddys verkaufen zu können, 

wurden alte Stoffe durch bessere ersetzt. 
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SCHRIFTLICHE AUFGABE 
 
Die folgende Grafik gibt Informationen über die Altersgruppen der Internetnutzer (in Prozent) in 

Aserbaidschan in den Jahren 2013 – 2020. Beschreiben Sie die in der Grafik gegebenen 
Informationen auf Deutsch. 

 
Sie sollen bei der visuellen Beschreibung: 
 

    ● den Text klar (Einleitung, Hauptteil und Schluss) gliedern; 
● den Text durch Absätze strukturieren; 
● die Wortgrenze von 150 – 180 Wörtern einhalten; 
● den Text im formellen Stil formulieren; 
● wichtige Teile auswählen und Informationen zusammenfassen; 
● passende Vergleiche machen; 
● Informationen und Ideen konsequent und logisch darstellen; 
● persönliche Meinungen über die Informationen vermeiden; 
● einen reichen Wortschatz verwenden und passende grammatische Strukturen präzis 
benutzen.   
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ESSAY 

Wählen Sie eines der folgenden Themen und schreiben Sie die Nummer des ausgewählten 
Themas in das Kästchen und schreiben Sie einen Essay auf Deutsch darüber.  

1. Entscheidungen können entweder schnell oder nach einem gründlichen Überlegen getroffen
werden. Warum fällt es so oft schwer, die richtigen Entscheidungen zu treffen? Begründen
Sie Ihre Meinung.

2. Einige behaupten, dass öffentliche Bibliotheken niemals verschwinden werden, während
andere glauben, dass wir sie nicht mehr brauchen und sie in naher Zukunft geschlossen
werden. Welcher Ansicht stimmen zu? Begründen Sie Ihre Meinung.

Beim Schreiben sollen Sie: 

● den Text klar (Einleitung, Hauptteil und Schluss) gliedern;
● den Text durch Absätze strukturieren;
● den zusammenhängenden Text mit geeigneten Konnektoren schaffen;
● die Wortgrenze von 200-250 Wörtern einhalten;
● den Text im formellen Stil formulieren;
● Ihre eigenen und andere Meinungen darstellen;
● Ihre persönliche Meinung und die passenden Argumente zum Thema ausdrücken;
● verschiedene Argumente und passende Beispiele anführen, um den Hauptgedanken zu

verdeutlichen;
● Ideen und Informationen in verständlich-logische Reihenfolge bringen;
● den differenzierten Wortschatz verwenden und passende grammatische Strukturen präzis

benutzen;
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SPRECHEN 
 
Aufgabe 1 
 

 
 
1. Beschreiben Sie das Bild. 
2. Welche Vor- und Nachteile hat das Arbeiten im Großraumbüro? 
3. In welcher Büroform würden Sie gerne arbeiten? Und warum? 
 
 

Aufgabe 2 
 
Einige sind der Meinung, dass die Hausaufgaben den Kindern in den Schulen gegeben 
werden sollten. 
 

FÜR GEGEN 
1. Hausaufgaben entwickeln bei den 

Kindern Unabhängigkeit, 
Zeitmanagement, Recherche- und 
Planungsfähigkeiten. 

1. Hausaufgaben können dazu führen, 
dass Lernende gestresst und müde 
werden. 

2. Hausaufgaben helfen den Kindern, die 
schulischen Leistungen zu verbessern. 

2. Hausaufgaben können viel Zeit in 
Anspruch nehmen. 

3. Hausaufgaben schaffen bei den Kindern 
Verantwortungsgefühl für das Lernen. 

3. Die Belastung durch Hausaufgaben 
kann Lernende demotivieren.  

 
 
Aufgabe 3 
“In Zukunft können Kinder selbständig lernen, ohne in die Schule zu gehen”. 
Wie denken Sie darüber? 
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FRANÇAIS 
 

COMPRÉHENSION ORALE 
 

Écoutez le texte et faites les  
exercices de 1 à 5. 
 
QEYD:  Müvafiq audiofayl  

abiturient.az/mp3/doktorantura_2024/fransiz-1.mp3  
linkinə  yerləşdirilmişdir.   
(Соответствующий аудиофайл представлен на сайте 
abiturient.az/mp3/doktorantura_2024/fransiz-1.mp3)  

      QR kodu skan etməklə müvafiq 
audiofayl yerləşdirilmiş 
səhifəyə birbaşa keçə bilərsiniz.  
(На страничку с 
соответствующим 
аудиофайлом можно сразу 
перейти, просканировав 
указанный QR-код.)  

 
1. De quoi s’agit-il principalement dans le texte ? 

A) Des dates annuelles des fêtes. 
B) De l’organisation moderne des jours fériés. 
C) Des éléments primordiaux de la vie sociale. 
D) Des fêtes religieuses et des rites. 

 
2. Choisissez la suite logiquement correcte selon 

le texte. 
La majorité des gens ne savent pas … . 
A) les calendriers des fêtes 
B) la valeur superficielle des fêtes 
C) la socialisation des hommes 
D) la valeur essentielle des fêtes 

 
3. Répondez d’après le texte. 

Quels sont les objectifs principaux des fêtes ? 
1. Rendre une tristesse profonde aux adultes 

et aux enfants 
2. Faire pénétrer l’homme au domaine de 

l’énergie sublime 
3. Être un temps banal dans la vie des 

hommes 
4. Remettre régulièrement en contact les gens 

séparés matériellement 
5. Amuser et être source de plaisir pour les 

gens 
A) 3, 4, 5                                     B) 1, 3, 5 

C) 2, 3, 5                                     D) 2, 4, 5 

 
4. Choisissez l’équivalent de la phrase prise du 

texte. 
Les fêtes adaptent les individus aux exigences 
de la collectivité. 
A) Les fêtes socialisent les hommes. 
B) Les fêtes sont les éléments primordiaux de 

la vie sociale. 
C) Les fêtes ont des sens religieux. 
D) Les fêtes soutiennent une tristesse 

collective. 
 

5. Quand est-ce que le jour de la prise de la 
Bastille est devenu la fête nationale ? 
A) Le 14 juillet 1789. 
B) Le 14 juillet 1880. 
C) Dès que les gens ont voulu être ensemble. 
D) Après la commémoration de la passion 

Christ. 
 
Écoutez le dialogue et faites les  
exercices de 6 à 10. 
 
QEYD:  Müvafiq audiofayl  

abiturient.az/mp3/doktorantura_2024/fransiz-2.mp3  
linkinə  yerləşdirilmişdir.   
(Соответствующий аудиофайл представлен на сайте 
abiturient.az/mp3/doktorantura_2024/fransiz-2.mp3)  

      QR kodu skan etməklə müvafiq 
audiofayl yerləşdirilmiş 
səhifəyə birbaşa keçə bilərsiniz.  
(На страничку с 
соответствующим 
аудиофайлом можно сразу 
перейти, просканировав 
указанный QR-код.) 

 

 
6. De quoi s’agit-il dans le texte ? 

A) Des extraterrestres de notre système 
solaire. 

B) Des exoplanètes qui ne font pas partie de 
notre système solaire. 

C) Des planètes du système solaire. 
D) D’une planète qui est proche du Soleil. 

 
7. Répondez d’après le texte. 

Quels composants une planète tellurique peut-
elle avoir? 
A) le métal, la glace, la roche 
B) l’eau, la terre, le fer 
C) le cuivre, l’argent, le fer 
D) le sable, la pierre, l’eau 

 
8. Choisissez la suite logiquement correcte selon 

le texte. 
La nouvelle planète découverte récemment 
tourne autour … . 
A) de la Terre                                B) du Soleil 

C) de son étoile Gliese 581       D) de Saturne 
 
9. Donnez trois éléments descriptifs de la planète 

« Gliese 581d ». 
1. Elle fait environ 7 fois la masse de la Terre. 
2. Sa surface est recouverte de plantes. 
3. C’est une exoplanète. 
4. Sa surface est recouverte d’eau. 
5. Elle est plus grande que « Gliese 581e ». 
A) 2, 3, 5                                     B) 1, 2, 4 

C) 1, 3, 4                                     D) 1, 3, 5 

 
10. Pourquoi la planète « Gliese 581e » est-elle 

inhabitable ? 
A) Parce qu’elle est plus grande. 
B) Parce que la température y est très élevée. 
C) Parce qu’elle se trouve loin de son étoile. 
D) Parce qu’elle est constituée de métaux et 

de roches. 
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COMPRÉHENSION DES ÉCRITS 
 

Lisez le texte et décidez quelle série  
(A, B, C ou D) peut compléter chaque 

trou (11 – 20). 
 

 Selon l’Anact, 8 salariés (11)_____ 10 
estiment qu’une bonne qualité de vie 
(12)_____ travail est utile autant pour les 
employés que pour l’entreprise. Toutefois, ils 
sont pour l’instant très déçus des mesures 
(13)_____ par leurs organisations dans ce 
domaine. Plus de la moitié des salariés 
considèreraient que les actions entreprises en 
matière de bien-être sont (14)_____. Les 
salariés sont pourtant (15)_____ à 70% que le 
bonheur au travail a (16)_____ positive sur la 
performance et l’image. Et ils ont raison, les 
études scientifiques (17)_____ qu’un 
collaborateur heureux est plus engagé, plus 
créatif, qu’il coopère (18)_____ et qu’il produit 
un travail de meilleur qualité. Les bénéfices 
pour les (19)_____: moins d’arrêts maladie, 
plus de productivité, des employés qui restent 
plus longtemps... Malgré cela, il semblerait 
que le bien-être des salariés ne (20)_____ 
toujours pas partie des priorités des chefs 
d’entreprise... 

 
11. A) face à         B) vers          

C) sur         D) par 
 
12. A) au B) en 

C) de D) à la   
 
13. A) limitées  B) prévenues 

C) anciennes D) prises 
 
14. A) excessives B) exagérées 

C) insuffisantes D) satisfaisantes 
 
15. A) convaincus B) convainquaient 

C) convaincues D) convaincront 
 
16. A) une influence B) des facteurs 

C) des faits D) une pratique 
 
17. A) prouveront B) sont prouvés 

C) ont prouvé D) auraient prouvé 
 
18. A) le meilleur B) meilleur 

C) bon D) mieux  
 
19. A) entreprises  B) travailleurs 

C) sciences D) employés 
 
20. A) fasse  B) fait 

C) feront D) font  
 
 
 
 
 
 

Lisez le texte et répondez aux  
exercices de 21 à 25. 

 
L’équipement informatique des ménages 

français bouleverse-t-il leurs pratiques 
d’achat ? Il est encore un peu tôt pour 
répondre à cette question puisque c’est 
seulement depuis 2007 que les fournisseurs 
d’accès à l’Internet proposent de haut débit 
en France. Or, comme l’explique sociologue 
Alain Rallet, « c’est en naviguant sur 
Internet ayant la connexion permanente et à 
haut débit que le consommateur a pu 
découvrir la « flânerie virtuelle », quelque 
chose comme le shopping urbain qui lui 
permet d’acheter facilement et à n’importe 
quelle heure ». Jusqu’où ira ce mode de 
consommation ? Là encore, difficile à dire. 
« Depuis le XIXe siècle, la VPC (vente par 
correspondance) n’a jamais dépassé les 5 % 
de part du marché : je ne suis pas certain 
que le commerce électronique puisse faire 
mieux.... », avance Alain Rallet. Un point de 
vue pour le moins dissonant dans le concert 
médiatique qui décrit une révolution des 
modes de consommation. Certes, 2009 a vu 
les ventes en ligne augmenter de 33 % en 
France. Mais, quand on part d’un niveau 
quasi nul, est-ce vraiment surprenant ? 

Trois secteurs se détachent nettement 
du peloton : le voyage, le produit gras, le 
livre et les produits culturels numérisés. 
Quant au commerce alimentaire, il reste à 
la traîne, sans doute du fait que le client 
doit payer pour la livraison. « C’est simple, 
le e-commerce marche quand il y a des 
économies à faire », résume Alain Rallet. 

Depuis le début des années 2000, le 
profil des acheteurs a ainsi nettement 
évalué. Aux jeunes hommes technophiles 
diplômés se sont joints progressivement un 
peu plus de femmes et de seniors, de cadres 
moyens et d’employés. Aujourd’hui, il y a 
autant de femmes que d’hommes parmi les 
internautes acheteurs et la fracture 
générationnelle a été quasiment comblée. Il 
semblerait même que les tranches d’âge 
aient sensiblement les mêmes pratiques. À 
une nuance près : « les étudiants fauchés 
ont surtout des motivations financières, 
sans forcément prendre en compte la 
qualité. Alors qu’une fois dans la vie active, 
ils recherchent le meilleur rapport 
qualité/prix », précise Alain Rallet. 

 

 
21. Quelle est l’idée principale du texte ? 

A) Analyser les lieux d’achats des 
consommateurs français. 

B) Analyser l’influence de l’Internet sur les 
achats des consommateurs français. 

C) Exposer les possibilités qu’offre Internet 
pour les acheteurs français. 

D) Décrire les fournisseurs et les 
consommateurs d’accès à l’Internet. 
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22. Choisissez la suite logiquement correcte 
d’après le texte. 
Pour le sociologue Alain Rallet, Internet … . 
A) ne permet que de recevoir des publicités 

personnalisées 
B) n’aide des internautes qu’à découvrir des 

produits alimentaires 
C) a un impact largement surestimé pour ce 

qui est des achats en ligne 
D) aide les consommateurs à se débrouiller 

facilement 
 

23. Répondez d’après le texte. 
Quelle couche de la société est beaucoup plus 
attirée financièrement par la vente sur 
Internet ? 
A) Toute la société française est très 

accrochée aux ventes en ligne. 
B) Il y a autant de femmes que d’hommes 

parmi les internautes acheteurs. 
C) Des cadres moyens et des employés sont 

des personnes les plus attirées. 
D) Ce sont particulièrement les étudiants qui 

sont poussés beaucoup. 
 
24. Choisissez les équivalents du mot souligné 

dans le texte. 
A) Intéressés, attirés, fortunés 
B) Munis, riches, nantis 
C) Démunis, pauvres, ruinés 
D) Ravis, réjouis, épanouis 

 
25. Trouvez l’idée fausse d’après le texte. 

A) Les jeunes recherchent toujours le rapport 
qualité/prix dans la vie active. 

B) Le succès d’Internet s’explique par le gain 
de temps appréciable qu’il rend possible. 

C) Le nombre des femmes et des hommes 
parmi les internautes acheteurs est égal. 

D) Les ventes en ligne ont augmenté les 
dernières années. 

 
Lisez le texte et pour les 

exercices de 26 à 30 choisissez l’une 
des phrases données (A – F) pour 
chaque trou. Il y a une phrase 

supplémentaire à ne pas utiliser.  
 

La télémédecine, qui combine la 
technologie et les soins de santé, est devenue 
un sujet brûlant de nos jours. 26 …  Dans 
ce texte, nous examinerons ces deux aspects 
pour mieux comprendre son impact sur la 
médecine moderne. 

Tout d'abord, les avantages de la 
télémédecine sont nombreux. L'un des plus 
évidents est l'accès amélioré aux soins de 
santé, en particulier pour les personnes 
vivant dans des régions éloignées ou rurales. 
Les patients n'ont plus besoin de parcourir 
de longues distances pour consulter un 
médecin, ce qui réduit les coûts de transport 
et les délais d'attente. De plus, la 
télémédecine permet aux patients de 
consulter des spécialistes de renommée 
mondiale, quel que soit l'endroit où ils se 
trouvent. 

27 … Les consultations en ligne offrent 
une flexibilité de temps et d'endroit, ce qui 
est particulièrement précieux pour les 
personnes ayant des emplois du temps 
chargés. Les patients peuvent désormais 
prendre rendez-vous et obtenir des conseils 
médicaux sans quitter leur domicile ou leur 
lieu de travail. 

La télémédecine est également bénéfique 
pour la surveillance à long terme des 
maladies chroniques. Les patients atteints 
de différentes maladies telles que le diabète 
ou l'hypertension peuvent utiliser des 
appareils médicaux connectés pour 
surveiller régulièrement leur état de santé. 
28 …  

Cependant, la télémédecine présente 
également des inconvénients. Tout d'abord, 
la perte de contact humain direct entre le 
patient et le médecin peut affecter la qualité 
de la relation médecin-patient. Les 
interactions en personne permettent de 
mieux comprendre les émotions et les 
signaux non verbaux, qui sont importants 
pour un diagnostic précis et une prise en 
charge empathique. 

Un autre inconvénient concerne la 
confidentialité des données. 29 … La 
protection des données de santé devient 
donc une préoccupation majeure dans le 
contexte de la télémédecine. 

De plus, la télémédecine n'est pas 
appropriée pour tous les types de soins 
médicaux. Les examens physiques 
approfondis et les procédures chirurgicales 
complexes nécessitent encore la présence 
physique du patient et du médecin. 30 … 

Il est important de reconnaître que la 
télémédecine n'est pas une solution 
universelle, mais plutôt un outil précieux qui 
peut compléter les soins de santé 
traditionnels. Pour maximiser ses avantages 
tout en minimisant ses inconvénients, une 
mise en œuvre réfléchie et une 
réglementation appropriée sont essentielles. 

 
A. Un autre avantage notable est la 

commodité.  
 

B. Les informations médicales sensibles sont 
stockées et échangées en ligne, ce qui les 
expose à des risques de vol ou de piratage.  

 

C. Les données recueillies de cette manière, 
sont ensuite transmises à leur médecin 
pour une évaluation continue, permettant 
ainsi une intervention précoce en cas de 
problème.  

 

D. Dans de tels cas, la télémédecine peut être 
limitée.  

 

E. Elle présente plusieurs avantages, mais 
n'est pas sans ses inconvénients.  

 

F. Les patients ont le droit de vérifier la 
qualité des appareils médicaux. 
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PRODUCTION ECRITE 
   

Le graphique en barre donne les informations sur le rang de l’âge des internautes (en 
pourcentage) en Azerbaïdjan dans les années 2013-2020. Décrivez par écrit en français les 
informations données dans le graphique.  

 

En décrivant les informations visuelles, vous devez : 
●  déterminer les parties de la description écrite (introduction, corps et conclusion) et les 

distinguer dans les différents paragraphes; 
●  suivre les limites de mots (150-180 mots); 
●  utiliser le style journalistique et formel; 
●  résumer l’information en choisissant et tout en décrivant les traits principaux; 
●  faire des comparaisons respectives; 
●  classer les informations et les idées d’une manière organisée et logique; 
●  éviter de donner des opinions personnelles sur les données; 
●  utiliser une grande étendue lexicale et des structures grammaticales d’une manière claire et 

flexible.  
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ESSAI 
 

 

Choisissez l’un des thèmes donnés, indiquez le numéro dans la case ci-dessous et écrivez 
en français votre essai autour de ce thème. 

1. Certains prétendent que les bibliothèques publiques ne disparaîtront jamais, d’autres
pensent qu’elles sont inutiles et qu’elles vont fermer bientôt. Avec quel point de vue êtes-
vous d’accord ? Exprimez votre accord ou désaccord sur ce sujet et soutenez votre point de
vue.

2. Prendre des décisions est plus important dans la vie quotidienne. Les décisions peuvent-
être prises rapidement ou après une longue analyse. Comparez ces moyens pour prendre de
bonnes décisions et exprimez votre préférence.

En écrivant votre essai, vous devez: 
• avoir une bonne structure contenant l’introduction, le corps et la conclusion et les

distinguer dans les différents paragraphes;
• créer un texte cohérent et cohésif à l’aide des différents connecteurs;
• suivre les limites de mots (200-250 mots);
• produire un texte original au style journalistique et formel;
• donner vos propres opinions et des opinions contraires;
• indiquer des raisons différentes et des exemples convenables pour justifier vos opinions;
• vous servir des sources différentes afin de justifier vos opinions;
• classer les informations et les idées d’une manière organisée et logique;
• utiliser une grande étendue lexicale et des structures grammaticales avec facilité et flexibilité.
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PRODUCTION ORALE 
 
 
Partie 1 

 
 
1. Décrivez l’image. 
2. Quels sont les avantages et désavantages des bureaux de travail à l’espace décloisonné? 
3. Dans quel type d’office pourriez-vous mieux travailler? Pourquoi? 
 
 
Partie 2 
Certains prétendent qu’il faut donner les devoirs scolaires aux enfants à faire à la maison. 
 

POUR CONTRE 

1. Les devoirs développent l’indépendance, le 
management de temps, les compétences de 
recherche et de planification. 

1. Les devoirs scolaires peuvent constituer 
une source de stress et de fatigue chez 
des élèves. 

2. Les devoirs aident à favoriser la réussite 
scolaire. 

2. Les devoirs prennent beaucoup de 
temps. 

3. Les devoirs créent le sens de la responsabilité 
d’apprentissage. 

3. Trop de devoirs peuvent démotiver les 
apprenants.  

 
 
Partie 3 
“A l’avenir, les enfants étudieront indépendamment, sans aller à l’école”. 
Quelle est votre attitude à cette opinion? 
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TAPŞIRIQ NÜMUNƏLƏRİNİN CAVABLARI 
VƏ QİYMƏTLƏNDİRMƏ MEYARLARI 

 

Yazılı tapşırıq 1 
Vizual məlumatın təsvirinin qiymətləndirilmə meyarları 

1 2 3 4
Tapşırığın yerinə yetirilməsi Vizual məlumatın 

əhatəedilmə dərəcəsi 
Məntiqi ardıcıllıq Dil qaydalarından 

düzgün istifadə 
1 (A) 2 (B) 3 (C) 4 (D) 

Yazılı təsvirin vizual məlumata 
uyğunluğu, həcmi, tərkib 
hissələrinin (giriş, əsas hissə 
(əsas məqamlar və detallar) və 
nəticə (xülasə)) mövcudluğu, 
elmi-publisistik üsluba uyğunluğu 
və neytrallığı 

Vizual məlumatın analizi, 
düzgün şərhi, əhatə 
səviyyəsi, 
ümumiləşdirilməsi və 
müqayisələrin düzgün 
aparılması 

Vizual məlumatın 
təsvirində tərkib 
hissələrinin və fikirlərin 
arasında  məntiqi 
rabitənin olması 

Söz ehtiyatının 
zənginliyi, səlisliyi, 
qrammatik normalara 
əməl olunması 

− yazılı təsvir seçilmiş xarici
dildə və tamamilə vizual 
məlumata uyğun işlənib; 

− həcmi minimum 150,
maksimum 180 sözdür (±);

− tərkib hissələri (giriş, əsas
hissə (əsas məqamlar və
detallar) və nəticə (xülasə))
ayrı-ayrı abzaslarla
fərqləndirilib;

− elmi-publisistik üslubdadır;
− neytraldır və şəxsi fikirlərə yer

verilməmişdir.

− vizual məlumat
dolğun şəkildə şərh
edilib və tam əhatə
olunub;

− detallar əsas
məqamlara
toxunulmaqla təhlil
edilmişdir;

− müqayisələr,
qarşılaşdırmalar,
təsniflər və
ümumiləşdirilmə
yerli-yerində
aparılmışdır.

− tərkib hissələri və
fikirlər arasındakı
məntiqi rabitə
həmişə gözlənilir;

− müxtəlif birləşdirici
vasitələrdən yerində
istifadə edir;

− iddiaçının apardığı
ümumiləşdirmə
tamamilə məntiqli və
əsaslıdır;

− vizual məlumatın
təsvirində məntiqi
ardıcıllıq tamamilə
gözlənilir.

− müxtəlif strukturlu
düzgün cümlələr 
qurur; 

− mövzuya uyğun
zəngin söz ehtiyatı
vardır və yerində
işlədir;

− nadir hallarda səhv
edir (leksik,
qrammatik və
orfoqrafik) (1-2
bəsit səhv);

− təkrara yol vermir.

Qeyd 1: Yerinə yetirilməmiş, yazı müəllifini tanıtmaq məqsədilə hər hansı işarə vurulmuş, namizədin özü və ya 
yaxınları, müəllimləri və s. barəsində məlumat yazılmış və ya təqdim olunan mövzulardan biri əvəzinə, hər 
hansı digər mövzuda və ya seçilmiş xarici dil əvəzinə digər dildə yazılmış, həmçinin oxunulması mümkün 
olmayan yazı işləri “0” balla qiymətləndirilir. 

Qeyd 2: A və B alt meyarları üzrə tam bal almaq üçün bütün şərtlər (söz sayı xaric) ödənilərsə, yazının həcmi (200 
sözdən çox olması (250-yə qədər)) nəzərə alınmır. 

Qeyd 3:  A bəndi “0” balla qiymətləndirilirsə, B bəndi üzrə qiymətləndirilmə aparılmır və yekun qiymət kimi “0” bal 
yazılır. 

        B bəndi “0” balla qiymətləndirilirsə, C, D bəndləri üzrə qiymətləndirmə aparılmır.     
Qeyd 4: Eyni dil qaydalarına aid təkrarlanan səhvələr 1 (bir) səhv hesab olunur.  
Qeyd 5: Ayrıca yazılmış bütün sözlər (artikillər daxil olmaqla) sayılır. 



 

  

79 
   

 

Yazılı tapşırıq 2 
Doktorantura və dissertantura səviyyəsində  xarici dil üzrə imtahanda namizədlərin yazdıqları esselərin  

qiymətləndirilmə meyarları  
 

1 2 3 4 

Essenin mövzusu, həcmi 
və strukturu 

Mövzunun əhatəedilmə 
dərəcəsi 

Məntiqi ardıcıllıq və 
qrammatik qaydalara 

əməl olunma 

Söz ehtiyatının müxtəlifliyi 
və işlənməsi 

1 (A) 2 (B)  3 (C) 4 (D)  
Essenin mövzuya 

uyğunluğu, həcmi, tərkib 
hissələrinin (giriş, əsas 

hissə və nəticə (yekun)) 
mövcudluğu və onlar 

arasında əlaqə (bütövlük, 
tamlıq), essenin publisistik 

üslubda olması, üslubun 
neytrallığı və orijinallığı 
(müəllifin dəsti-xətti) 

Mövzunun əhatə səviyyəsi, 
fikirlərin məntiqli və 
inandırıcı şərhi və ya 

təkzibi, sübutedici 
mənbələrdən istifadə 

etməklə əsaslandırılması 

Müxtəlif birləşdirici 
vasitələrdən istifadə 

etməklə məntiqi rabitənin 
gözlənilməsi, fərqli 

strukturlu cümlələrdən 
istifadə, yol verilmiş 

səhvlərin (qrammatik, 
orfoqrafik, durğu işarələri) 

sayı 

Söz ehtiyatının zənginliyi, 
müxtəlif leksik vahidlərdən 

istifadə 

− esse seçilmiş xarici 
dildə və mövzunun 
adına uyğun işlənib; 

− həcmi 200-250 (±) 
sözdür; 

− tərkib hissələri (giriş, 
əsas hissə və nəticə) 
ayrı-ayrı abzaslarla 
fərqləndirilib; 

− essenin tərkib 
hissələri arasındakı 
əlaqə tamamilə 
gözlənilib: mətn 
axıcıdır; 

− esse neytrallıq və 
orijinallıq qorunmaqla 
publisistik üslubdadır. 

− mövzu dolğun şəkildə 
şərh edilib və tam 
(hərtərəfli) əhatə 
olunub; 

− mövzu ilə bağlı 
mühakimələr, fikirlər, 
çıxarılan nəticələr 
tamamilə məntiqli və 
inandırıcıdır; 

− mövzu ilə bağlı 
müstəqil fikir 
yürüdülüb; 

− mövzu ilə bağlı ifadə 
olunan əlavə fikir və 
məqamları 
əsaslandırmaq üçün 
müxtəlif sübutedici 
mənbələrdən yerli-
yerində istifadə 
olunub. 

− müxtəlif birləşdirici 
vasitələrdən istifadə 
edir və fikirlər 
arasındakı məntiqi 
rabitə həmişə 
gözlənilir. 

− fərqli strukturlu 
cümlələr qurur, ancaq 
mürəkkəb cümlələr 
quran zaman yol 
verilmiş (bəsit) 
səhvlərin (orfoqrafik, 
qrammatik, durğu 
işarəsi) ümumi sayı 1-
2-dir; 

− mövzuya uyğun 
zəngin söz ehtiyatı 
vardır və sözlər 
həmişə yerində 
işlədir; 

− cüzi leksik səhvlər (1-2 
səhv) məzmunun 
çatdırılmasına mane 
olmur; 

− müxtəlif leksik 
vahidlərdən istifadə 
edir və leksik təkrara 
yol vermir (parafraz 
edir, sinonimlərini 
yazır, söz 
birləşmələrini istifadə 
edir). 

 
Qeyd 1: Yerinə yetirilməmiş, yazı müəllifini tanıtmaq məqsədilə hər hansı işarə vurulmuş, namizədin özü və ya 

yaxınları, müəllimləri və s. barəsində məlumat yazılmış və ya təqdim olunan mövzulardan biri əvəzinə, hər 
hansı digər mövzuda və ya seçilmiş xarici dil əvəzinə digər dildə yazılmış, həmçinin oxunulması mümkün 
olmayan yazı işləri “0” balla qiymətləndirilir. 

Qeyd 2: A və B alt meyarları üzrə tam bal almaq üçün bütün şərtlər (söz sayı xaric) ödənilərsə, yazının həcmi (250 
sözdən çox olması (300-ə qədər) nəzərə alınmır. 

Qeyd 3:  A bəndi “0” balla qiymətləndirilirsə, B bəndi üzrə qiymətləndirilmə aparılmır və yekun qiymət kimi “0” bal 
yazılır. 

               B bəndi “0” balla qiymətləndirilirsə, C, D bəndləri üzrə qiymətləndirmə aparılmır.                             
Qeyd 4: Eyni dil qaydalarına aid təkrarlanan səhvələr 1 (bir) səhv hesab olunur.  
Qeyd 5: Ayrıca yazılmış bütün sözlər (artikillər daxil olmaqla) sayılır. 
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İngilis dili üzrə birinci yazı tapşırığına (vizual məlumatın təsviri)  
dair nümunə və izah 

 

Sample 1  

The presented graph highlights data on four different age 
groups who used internet in Azerbaijan between 2013 and 
2020.  

Overall, the rate of internet users under 25 was higher 
except in 2020 when 35–64-year-olds took the lead.   

Looking at the details, the highest number of individuals 
below 25 accounted for 47% at the beginning of the period. 
Having decreased to 40% in 2014 the figure then recovered 
to about 42% during three consecutive years. Surprisingly, 
the index declined to 30% in 2020 experiencing a drop each 
year. The proportion of internet usage for people in 25-34 age profile fluctuated between 22 and 
25% during the given timeframe. 

As regards, just under a third of 35-64 age profile had internet 
access in 2013. There was a jump to 35% in 2014 after which it 
dropped again reaching a plateau. Next, the indicator went up to its 
maximum of 45% in 2020. By contrast, people over 64 started using 
internet only in 2020, which consisted of tiny 3%. 
 

To conclude, under a half of users under 25 surfed the net in 2013, while this position belonged 
to 35-64 age bracket at the end of the period.                                                                             

Word Count: 195 words 

Examiner’s Comments:  

 The answer deals well with the individual trends; however, the overall comparison is 
lacking. The opening could be more fully developed with the inclusion of information 
relating to the age groups studied and the period during which the study took place.  

 There is a good variety of cohesive devices and the message can be followed quite easily 
although some sentences lack logical sequence.  

 Structures are complex and grammatical forms are used with a good degree of control.  
 A range of vocabulary is used including less common lexis which is used appropriately in 

most cases.  
 
 

 

 

Suggested overall: It is evident 
that over the given period, the 
age group under 25 took up 
the highest level of internet 
penetration in the country. 
However, it was the least used 
among those who are older 
than 65. 

Transition is needed since 
a new point is being 
introduced. 

Suggested introduction: The 
graph shows the age 
distribution of internet users 
over a seven-year period from 
2013 to 2020 in Azerbaijan. 
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Sample 2 

The number of female Internet users in Azerbaijan 
between 2013 and 2020 is illustrated by the quadripartite 
bar graph. The unit of measurement is estimated in terms 
of percentage. 

Overall, the female users younger than 25 revealed the highest 
frequency throughout the whole period whereas elderly people 
remained the least active ones till the end of the survey. 

As regards to young adults, their frequency of Internet usage 
was almost identical with minor differences, except for the last 
year of the survey. Although the 35-64-year-olds underwent a slight fluctuation between the 
years 2013 and 2019 (30-34% respectively), they replaced the dominance of the aforementioned 
group in 2020 accounting for about 45% of usage. 

In terms of 25-34-year-old users, their involvement on the Internet reveals fewer dynamics. 
Middle adults’ usage of Websites stood at 22% at the beginning, which was followed by a 3-
percent increase from 2014-2019 then retreating to their initial level in 2020. As to the oldest 
members of the survey, they were too reluctant to engage in online activities. Their usage was 
estimated with 1 percent until 2020, hereinafter their interest on the Internet grew by 4 percent. 

Word Count: 190 words 

 

Examiner’s Comments:  

 The answer has an appropriate introduction which the candidate has attempted to express 
in his/her own words.  However, the overview could be more accurate and could exemplify 
the changes in the trends.  

 The answer can be followed although it is detailed that comparison is not provided. In 
order to gain a higher mark for content, the candidate would be expected to select the 
salient features of the graph and comment primarily on these comparing or contrasting 
them.  

 There is a good variety of cohesive devices, and the message can be followed quite easily 
although some sentences lack logical sequence.  

 Structures are complex and grammatical forms are used with a good degree of control.  
 A range of vocabulary is used including less common lexis which is used appropriately in 

most cases. There are some errors in the usage of words.  
 
 
 
 
 
 

 

 

Not given fact. No conclusions 
or inferences can be applied. 
Introduction does not fully 
restate the graph. Obvious 
data. 

Summary is not accurate 
since it does not focus on 
time period. 
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İngilis dili üzrə ikinci yazı tapşırığına dair nümunələr və izah 

Sample 1                                                                           

Some people claim that public libraries will never disappear, while others think 
that we no longer need them, and they will be closed in near future. Which view do 
you agree with? 

The considerable development in technology of the past 
twenty years has brought unprecedented changes to the use 
of libraries. The tradition notion of library has altered by the 

appearance of online resources. It 
is considered that in the future, 

all resources will be digitized 
in a phased manner; however, 

libraries will never be replaced by virtual ones. 

The main factor is that libraries often provide people with special collections resources which 
cannot be found in digital versions. Especially, the books written prior to 1990 may not be 
easily discoverable through general search engines. For example, The Yale University Beinecke 
Rare book and Manuscript library is the place where rare books and manuscripts are preserved. 

Besides of it, public libraries present a serene and focused 
environment with a range of shared spaces for studying and 
exploration. They create atmosphere for people to delve deeply 
into books without interruption. Readers are not distracted by 
advertisements which appear in internet pages while reading 
books.  

Finally, expert assistance is offered there by librarians who can guide people in their researches 
and navigate complex topics effectively. However, the vast amount of online resources do not 
correspond to the information that they need to find. Librarians also organize resources, 
ensuring that resources are accurate, up-to-date, and relevant. 

In conclusion, traditional libraries will survive in this 
technological era because they preserve tangible knowledge, 
offer a space for learning and exploration, and assist to 
find relevant information by help of librarians. Though 
digital resources undoubtedly play a significant role in 
accessing information fast, they will never foster the 
enjoyment of reading like traditional libraries. 

Word count: 266 words 

 

 

The introductory paragraph, or 
introduction, is the first paragraph 
of an essay. Here the writer has 
used “funnel” introduction which 
consists of two parts: several 
general statements and one thesis 
statement. 

Good thesis statement 
which states the 
specific topic of the 
essay. 
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The body of this essay is made 
up of three paragraphs. Each 
body paragraph has a topic 
sentence and several supporting 
sentences. 

The concluding paragraph is the 
last paragraph of an essay and it 
signals the end of the essay. It also 
reminds the reader of the main 
points and leaves the reader with 
the final thoughts on the topic. 
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Examiner’s Comments:  

 The essay is well-structured and organised. Paragraphing is skilfully managed: it 
consists of an introduction, body paragraphs and a conclusion.  

 The topic is appropriately addressed and explored in depth. Ideas are relevant, 
fully extended and well supported.  

 The ideas are logically connected and the message can be followed effortlessly. A 
wide range of structures is used with full flexibility and control. Punctuation and 
grammar are used appropriately throughout.  

 Full flexibility and precise use of lexis are widely evident. A wide range of 
vocabulary is used accurately and appropriately with very natural and 
sophisticated control of lexical features. 
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Sample 2                                                                    

People have different ways of escaping the stress and difficulties of modern life. 
Some read, some exercise, others work in the garden. Compare these ways of 
reducing stress and explain your preference.  

Hectic pace of modern life has trapped people into a 
rat race, which leads to overwhelming sense of pressure that 
contributes to greater stress levels. To be able to keep up with 
the challenges of such a life, it is a matter of the utmost 
importance for people to maintain healthy mind. Thus, people 
try different things to combat their stress. Reading, 
exercising, and working in the garden are the most common 
ones among them.  

Reading is a sedentary activity unlike the other two on the list. Getting immersed in reading 
helps you step into a different world that distracts you from the stressors of the real life. This, in its 
turn, gives your body and soul some time to rest resulting 
in lowering stress level.  

When it comes to physically active tasks like 
doing exercise and working in the garden, both have 
significant effect on improving people’s mental health. It 
has been proved that when deeper muscles start working, it 
triggers certain chemicals to be released. The resulting 
hormones have impetus to reduce stress hormone - cortisol.  

Psychologists and mental health experts have 
reached a consensus on the therapeutic value of working in 
the garden, alongside the functional movement it brings 

to people’s lives. This is a sort of mediation that helps people 
to effectively cope with stress.  

Had I the favorable conditions, I would gladly prefer working 
in the garden over the other two. However, my current living 
conditions make it hardly accessible for me. Reading and exercising 
are what I often do to recover from stress and strains of the day.  Both 
have produced desired outcome in my life. Nevertheless, doing sport 

makes me a bit happier than reading as it also improves my fitness level. 

Word count: 289 words 

 

 

 

 

Dividing a topic by grouping ideas 
that have something in common is 
called logical division of ideas. In 
the introduction part of this essay, 
the writer mentions reading, 
exercising, and working in the 
garden as the most common ways 
of reducing stress. 
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Here are three body paragraphs, 
each explaining different way of 
reducing stress. Notice that each 
one begins with a topic sentence 
that (1) names the kind of activity 
for reducing stress and (2) explains 
what it is. Then one or two 
examples follow. Each paragraph 
ends with a concluding sentence 
that further explains the kind of 
stress reducing activity. 

In conclusion, the writer 
summarizes the thoughts 
and presents his/her own 
opinion by justifying it.  
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Alman dili üzrə birinci yazı tapşırığına (vizual məlumatın təsviri) dair 
nümunə və izah 
Muster  

Das Schaubild zeigt die Entwicklung der Anteile von 
verschiedenen Altersgruppen an der gesamten 
Internetnutzung in Aserbaidschan in den Jahren von 2013 bis 
2020. 

Es fällt auf, dass sich die dominanten Altersgruppen 
deutlich verändern: Während 2013 ein Großteil der 
Internetnutzer (nämlich 46,1%, also fast die Hälfte) jünger 
als 25 Jahre alt ist, machen im Jahr 2020 Personen zwischen 
35 und 64 Jahren die Hauptgruppe aus. Dieser Prozess 
verläuft nicht kontinuierlich, sondern im Jahr 2020 zeigt 
sich eine sprungartige Veränderung: Der Anteil der Personen 
unter 25 Jahren sinkt deutlich von fast 40 Prozent auf etwas 
über 30 Prozent. Bei den Übervierundsechzigjährigen steigt 
die Zahl von 34,2 Prozent auf 44,2 Prozent. Bei der mittleren Altersgruppe ist diese Veränderung 
deutlich kleiner: Ihr Anteil sinkt um knapp drei Prozent. Bis 2019 zeigt sich insgesamt die gleiche 
Tendenz, doch die Unterschiede von Jahr zu Jahr fallen nicht so 
deutlich aus.  

Zusammenfassend kann man sagen, dass sich die 
Altersstruktur der aserbaidschanischen Internetnutzer 
signifikant verändert hat, besonders deutlich im Jahr 2020. Ein 
Grund hierfür geht aus der Grafik nicht hervor, es kann ein Zusammenhang mit der Corona-Pandemie 
vermutet werden.  

                                                                   Wortzahl: 181 Wörter 

Kommentare des Prüfers:  

 Die Antwort behandelt die Einzelheiten gut. Die Einleitung wird durch die 
Aufnahme von Informationen zu den untersuchten Altersgruppen und dem 
Untersuchungszeitraum weiterentwickelt. 

 Es gibt eine Vielfalt an Konnektoren und anderen zusammenhaltenden 
Mitteln und die Aussage kann ziemlich leicht verstanden werden. 

 Die Strukturen sind komplex und grammatische Formen werden meist 
korrekt und sicher verwendet. 

 Es wird ein breites Vokabular verwendet, einschließlich weniger 
gebräuchlicher Begriffe, die angemessen eingesetzt werden. 

 
 
 
 
 
 
 

Die Grafik zeigt die 
Altersverteilung der 
Internetnutzer zwischen den 
Jahren 2013 und 2020 in 
Aserbaidschan. 

Es lässt sich feststellen, während 
des betrachteten Zeitraums die 
höchste Internetnutzung in der 
Altersgruppe unter 25 Jahren 
verzeichnet wurde. Im Gegensatz 
dazu war sie unter Personen über 
65 Jahren am geringsten 
ausgeprägt. 

Ein Übergang ist erforderlich, 
da ein neuer Punkt eingeführt 
wird. 
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Alman dili üzrə ikinci yazı tapşırığına dair nümunələr və izah 

Muster 1 
Entscheidungen können entweder schnell oder nach gründlichem Überlegen 
getroffen werden. Warum fällt es so oft schwer, die richtigen Entscheidungen zu 
treffen? Verwenden Sie Gründe und konkrete Beispiele, um Ihre Meinung zu 
unterstützen. 

Entscheidungsfindung ist ein komplexer Prozess, 
der sowohl schnelle Reaktionen als auch gründliche 
Überlegungen erfordert. Die Herausforderungen dieses 
Prozesses lassen sich auf verschiedene Faktoren 

zurückführen, darunter die 
Komplexität der Entscheidungen selbst, Unsicherheiten in der 
Informationslage, emotionale Einflüsse, Zeitdruck und langfristige 

Konsequenzen. 

Die Komplexität von Entscheidungen wird zum Beispiel bei Überlegungen zur Auswahl der 
Arbeitsstelle deutlich. Die Abwägung von Faktoren wie Gehalt, Arbeitsumgebung, Karrierechancen 
und Lebensqualität kann zu einem überwältigenden Entscheidungsprozess führen, der eine klare 
Wahl erschwert. 

Unsicherheit und der Mangel an umfassenden 
Informationen stellen einen weiteren Schlüsselfaktor dar, 
insbesondere bei Finanzentscheidungen wie Investitionen in 
Aktien. Begrenzte Informationen über die Zukunft von 
Märkten und Unternehmen können zu suboptimalen Ergebnissen führen und die 
Entscheidungsfindung erschweren. 

Emotionale Einflüsse beeinträchtigen ebenfalls die Objektivität von Entscheidungen. Ängste, 
Unsicherheiten und persönliche Präferenzen können dazu führen, dass vielversprechende berufliche 
Gelegenheiten aus Angst vor Veränderung nicht ergriffen werden, selbst wenn sie finanziell 
vorteilhaft sind. 

Zeitdruck ist ein weiterer entscheidender Faktor, der zu impulsiven Entscheidungen führen 
kann, insbesondere in Notsituationen oder geschäftigen Umgebungen. Solche Entscheidungen 
könnten sich im Nachhinein als unüberlegt oder unklug erweisen. 

Schließlich zeigen sich die langfristigen Konsequenzen von 
vielen Entscheidungen oft im Nachhinein, z.B. bei der Studienwahl. 
Veränderte Arbeitsmärkte oder persönliche Interessen lassen sich kaum 
vorausplanen. Insgesamt sind Entscheidungen häufig durch eine 
Kombination dieser Faktoren geprägt. Die Fähigkeit, gute 
Entscheidungen zu treffen, erfordert nicht nur analytische Fähigkeiten, 
sondern auch emotionale Intelligenz, die Fähigkeit, Unsicherheiten zu 
akzeptieren, und die Bereitschaft, aus Erfahrungen zu lernen. Eine 
kontinuierliche Verbesserung der Entscheidungsfähigkeit erfordert 
Selbstreflexion und gegebenenfalls die Konsultation 
von Experten.      

Wortzahl: 249 Wörter 

Die Einleitung ist der erste Absatz 
eines Essays. Hier verwendet der 
Verfasser eine "Trichter"-
Einleitung, die aus zwei Teilen 
besteht: einer allgemeine Aussage 
und einer These. 

Gute These, die das 
konkrete Thema des 
Essays darlegt. 

HA
UP

TT
EI

L 

Der Hauptteil dieses Essays 
besteht aus vier Absätzen. Jeder 
Absatz hat einen Themasatz und 
unterstützende Sätze. 

Der Schlussabsatz ist der 
letzte Absatz eines Essays 
und signalisiert das Ende 
des Essays. Er erinnert den 
Leser auch an die 
Hauptpunkte und hinterlässt 
beim Leser abschließende 
Gedanken zum Thema. 
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Kommentare des Prüfers:  

 
 Der Essay ist gut strukturiert und organisiert. Die Absatzbildung wird geschickt 

gehandhabt: Er besteht aus einer Einleitung, einem Hauptteil und einem Schluss. 
 Das Thema wird angemessen behandelt und tiefgehend erläutert. Die Ideen sind 

relevant, umfassend dargelegt und gut unterstützt. 
 Die Ideen sind logisch miteinander verbunden und die Botschaft kann mühelos 

verfolgt werden. Es wird eine Vielzahl von Strukturen flexibel und sicher 
verwendet. Interpunktion und Grammatik werden durchgehend angemessen 
eingesetzt. 

 Man erkennt klar die kompetente, variationsreiche und präzise Verwendung eines 
breiten Wortschatzes.  
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Muster 2                 

Einige behaupten, dass öffentliche Bibliotheken niemals verschwinden werden, 
während andere glauben, dass wir sie nicht mehr brauchen und sie in naher 
Zukunft geschlossen werden. Welcher Ansicht stimmen Sie zu? Verwenden Sie 
konkrete Gründe und Beispiele, um Ihre Meinung zu unterstützen. 

Öffentliche Bibliotheken haben über die Jahrhunderte eine entscheidende Rolle beim Bewahren 
von Wissen, der Förderung von Bildung und beim Zusammenhängen von Gemeinschaften gespielt. 
Trotz ihrer historischen Bedeutung stehen sie heute an einem entscheidenden Punkt, wobei einige ihre 
Unverzichtbarkeit betonen, während andere behaupten, sie seien heutzutage überflüssig.  

Ein Hauptargument für ihre Unverzichtbarkeit liegt in der Rolle als Hüter des kulturellen 
Erbes. Bibliotheken bewahren nicht nur Bücher, sondern auch das kulturelle Gedächtnis einer 
Gesellschaft, wie die Library of Congress in den USA zeigt. 

Ein weiteres Argument für ihre Fortexistenz ist ihre Rolle als Bildungseinrichtung für alle 
Schichten der Gesellschaft. Bibliotheken dienen in vielen Gemeinden als kostenlose Ressource für 
Schüler, Studenten und lebenslanges Lernen, sie fördern die Lese- und Informationskompetenz und 
tragen zur Entwicklung einer informierten Bürgerschaft bei. 

Trotzdem behaupten einige, dass öffentliche Bibliotheken angesichts der digitalen Ära veraltet 
sind. Diese Ansicht vernachlässigt jedoch die soziale Funktion von Bibliotheken als Orte der Begegnung 
und des Austauschs. 

Ein Beispiel für die aktuelle Anpassungsfähigkeit von Bibliotheken ist die Integration von 
Technologie in ihre Dienstleistungen. Viele bieten digitale Ressourcen, Internetzugang und 
computergestützte Kurse an, um mit den sich verändernden Bedürfnissen der Nutzer Schritt zu halten. 

Zusammenfassend gesagt spielen öffentliche Bibliotheken eine relevante Rolle über die 
Bereitstellung von Büchern hinaus. Ihr Beitrag zum kulturellen Erbe, ihre Funktion als 
Bildungseinrichtungen und ihre Anpassungsfähigkeit unterstreichen ihre Bedeutung. Dennoch 
müssen Bibliotheken ihre Dienstleistungen anpassen und innovative Wege finden, um relevant zu 
bleiben, und um einer Zukunft ohne öffentliche Bibliotheken entgegenzuwirken. 

Wortzahl: 240 Wörter 

Kommentare des Prüfers:  

 
 Der Essay ist gut strukturiert und organisiert. Die Absatzbildung wird geschickt 

gehandhabt: Er besteht aus einer Einleitung, einem Hauptteil und einem Schluss. 
 Das Thema wird angemessen behandelt und tiefgehend erläutert. Die Ideen sind 

relevant, umfassend dargelegt und gut unterstützt. 
 Die Ideen sind logisch miteinander verbunden und die Botschaft kann mühelos 

verfolgt werden. Es wird eine Vielzahl von Strukturen flexibel und sicher 
verwendet. Interpunktion und Grammatik werden durchgehend angemessen 
eingesetzt. 

 Man erkennt klar die kompetente, variationsreiche und präzise Verwendung eines 
breiten Wortschatzes.  

 



 

  

89 
   

Fransız dili üzrə birinci yazı tapşırığına (vizual məlumatın təsviri) 
dair nümunə və izah 

Exemple 

Le graphique représente la proportion d’internautes au sein de 
la population azerbaïdjanaise, par âge, entre 2013-2020. 

De 2013 à 2020, le nombre d'internautes de plus de 35 ans a constamment augmenté par rapport 
aux autres tranches d'âge de la population. D’ailleurs, les 
personnes de moins de 25 ans ayant surfé sur internet 
sont plus nombreux que celles qui sont entre 25-34 ans 
pendant toutes les années indiquées dans le graphique.  

  La croissance constante des internautes en 2020 
appartient aux  personnes entre 35-64 ans (44,2%) et 
aux jeunes de moins de 25 ans entre 2013 et 2015 
(46,1%-42,9%). En revanche, il a été utilisé par près de 0,1% des plus de 64 ans depuis 2013, sauf que 
2,5% de cette tranche d’âge s’adressent occasionnellement à ce monde virtuel en 2020 selon les 
statistiques. 

En conclusion, l’analyse des chiffres prouve, que les 
personnes âgées de plus de 64 ans utilisant l’internet constituent 
apparemment une minorité. Par contre, la popularité d’internet est 
toujours d’actualité pour les personnes entre 35-64 ans et en 
particulier, pour celles qui ont moins de 25 ans entre 2013-2020.                                                                             

Nombre de mots : 180 mots 

Commentaires du correcteur/de la correctrice:  

 La réponse tient bien compte des tendances individuelles ; cependant, la 
comparaison globale fait défaut. L'ouverture pourrait être plus développée avec 
l'intégration d'informations relatives aux tranches d'âge étudiées et à la période 
pendant laquelle l'étude s'est déroulée.  

 Il existe une grande variété de dispositifs cohérents et le message peut être suivi 
assez facilement,  la séquence logique est bien suivie.  

 Les structures complexes et les formes grammaticales sont utilisées avec un bon 
degré de contrôle.  

 Une gamme de vocabulaire est utilisée, y compris des lexiques moins courants qui 
sont utilisés de manière appropriée dans la plupart des cas.  

Le graphique montre la 
répartition par âge des 
internautes sur une période 
de sept ans en Azerbaïdjan. 

Il est évident qu’au cours de la période 
considérée, la tranche d’âge de moins de 
25 ans a atteint le niveau d’utilisation 
d’Internet le plus élevé du pays. 
Cependant, c’est le moins utilisé parmi 
les personnes âgées de plus de 65 ans. 

Une transition s'impose 
puisqu'un nouveau point est 
introduit. 
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Fransız dili üzrə ikinci yazı tapşırığına dair nümunələr və izah 

Exemple 1 

Certains prétendent que les bibliothèques publiques ne disparaîtront jamais, les 
d’autres pensent qu’elles sont inutiles et elles vont fermer bientôt. Avec quel point 
de vue êtes-vous d’accord ? Exprimez votre accord ou désaccord sur ce sujet et 
soutenez votre point de vue. 

 Le sort des bibliothèques publiques suscite des 
débats passionnés. Certains disent que ces institutions sont 
indispensables et ne disparaîtront jamais. D’autres prévoient 
leur inutilité imminente. 

  Les partisans de leur 
persistance soulignent 
leur rôle central dans l'accès égal à l'éducation et à la 

culture. En dépit de l'essor du numérique, ces institutions restent 
des piliers d'inclusion sociale, offrant un accès gratuit à une variété 

de ressources, de la littérature classique aux technologies émergentes. 

  À l'inverse, les sceptiques considèrent que l'ère 
numérique a rendu les bibliothèques obsolètes. Avec 

l'abondance d'informations en ligne, certains estiment que 
les bibliothèques ne répondent plus aux besoins 
contemporains. Cependant, cette vision néglige l'évolution des 
bibliothèques dans l'ère numérique, offrant désormais des services 
tels que l'accès à des bases de données en ligne, des ateliers 
technologiques et des espaces collaboratifs.  

En accord avec les partisans de la persistance, je considère que les bibliothèques 
publiques demeurent des joyaux culturels indispensables. Au-delà de la préservation des livres 
physiques, les bibliothèques favorisent l'inclusion 
sociale, stimulent la créativité et promeuvent la 
liberté intellectuelle. Les résultats d'une étude 
indiquent que réviser dans les bibliothèques, loin 
des soucis quotidiens, est plus efficace que le faire à 
la maison. Les bibliothèques préservent non 

seulement les livres, mais aussi la mémoire culturelle 
d’une société, comme le montre la Bibliothèque du Congrès aux États-Unis. 

En conclusion, les bibliothèques publiques ne sont pas condamnées à l'obsolescence, mais 
plutôt à une transformation nécessaire pour répondre aux besoins changeants de la société. 
Soutenir ces institutions, c'est investir dans un avenir où la connaissance demeure accessible à 
tous. 

Nombre de mots: 266 mots 

Le paragraphe d'introduction est 
le premier paragraphe d'un essai. 
Ici, l'auteur a utilisé d’une 
introduction qui se compose de 
deux parties : une phrase 
d’introduction et deux phrases de 
supports. Un énoncé de thèse 

qui énonce le sujet 
spécifique de l'essai. 
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Le corps de cet essai est 
composé de trois paragraphes. 
Chaque paragraphe du corps 
comporte une phrase 
thématique et plusieurs 
phrases de support. Il est utilisé 
des exemples valide pour 
justifier ses opinions. 

Le paragraphe de conclusion est le 
dernier paragraphe d’un essai et 
marque la fin de l’essai. Il rappelle 
également au lecteur les points 
principaux et lui laisse les dernières 
réflexions sur le sujet. 
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Commentaires du correcteur/de la correctrice:  
 

 L'essai est bien structuré et organisé. Les paragraphes sont habilement gérés : il 
se compose d’une introduction, de paragraphes du corps et d’une conclusion. 

 Le sujet est abordé de manière appropriée et exploré en profondeur. Les idées sont 
pertinentes, pleinement développées et bien soutenues. 

 Les idées sont logiquement liées et le message peut être suivi sans effort. Une large 
gamme de structures est utilisée avec une flexibilité et un contrôle total. La 
ponctuation et la grammaire sont utilisées de manière appropriée tout au long de 
la lecture. 

 Une flexibilité totale et une utilisation précise du lexique sont largement évidentes. 
Un large éventail de vocabulaire est utilisé avec précision et pertinence avec un 
contrôle très naturel et sophistiqué des caractéristiques lexicales. 
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Exemple 2 

Prendre les décisions est plus important dans la vie quotidienne. Les décisions 
peuvent-être prises rapidement ou après une longue analyse. Comparez ces moyens 
pour prendre de bonnes décisions et exprimez votre préférence.  

Au cœur de notre quotidien, la prise de décision joue un rôle crucial, influençant 
directement notre vie.  

Les choix rapides, impulsifs conviennent aux situations urgentes, tandis que les 
décisions réfléchies, après une analyse approfondie, minimisent les erreurs malgré leur nécessité 
de temps.  

Les avis divergent sur cette question. Certains affirment que la spontanéité est la clé de 
la réussite, invoquant des exemples de leaders mondiaux prenant des décisions cruciales sur 
l'instant. D'autres insistent sur l'importance de la réflexion, citant des études psychologiques 
soulignant les bénéfices de la pensée analytique dans la prise de décision. 

L'incertitude et le manque d'informations complètes représentent un autre facteur clé, en 
particulier lors de la prise de décisions financières telles que le choix des investissements en 
actions. Il existe de nombreux exemples d’informations limitées sur l’avenir des marchés et des 
entreprises conduisant à des résultats sous-optimaux. Dans des contextes urgents, la décision 
rapide s'impose, mais elle peut être informée par une base d'expérience et de connaissances 
préalables. Donc, il faut pencher vers une combinaison éclairée des deux approches. 

En conclusion, la vie quotidienne est un équilibre subtil entre décisions rapides et 
analyses approfondies. Le choix de l'approche dépend du contexte et de la nature de la décision à 
prendre. Toutefois, la sagesse réside dans la capacité à ajuster sa méthode en fonction des 
circonstances, tirant ainsi le meilleur parti de chaque situation. La vie, après tout, est une 
succession de choix, et la manière dont nous les faisons sculpte notre destinée. 

Nombre de mots: 248 mots 

Commentaires du correcteur/de la correctrice:  

 L'essai a une bonne structure contenant l’introduction, le corps et la conclusion et 
les distinguer dans les différents paragraphes. Il est suivi les limites de mots.  

 Il est présenté un texte cohérent et cohésif à l’aide des différents connecteurs et 
production un texte original au style journalistique et formel est évident. L’auteur 
a donné ses propres opinions et des opinions contraires et aussi il a indiqué des 
raisons différentes et des exemples convenables pour justifier ses opinions. afin de 
justifier les opinions les sources sont bien utilisées. 

 une grande étendue lexicale et des structures grammaticales sont utilisé avec 
facilité et flexibilité. 
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TEST TAPŞIRIĞI NÜMUNƏLƏRİNİN DÜZGÜN CAVABLARI 
ПРАВИЛЬНЫЕ ОТВЕТЫ ОБРАЗЦОВ ТЕСТОВЫХ ЗАДАНИЙ 

 

 

 

 

İngilis dili / Английский язык 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 

A B C B D B A D D B A C C C A B B A D C 
 

21 22 23 24 25 26 27 28 29 30 

B B C D D C A F E B 

 

 

Alman dili / Немецкий язык 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 

A C B C A B A A D D C B C D D B C A A A 
 

21 22 23 24 25 26 27 28 29 30 

D D B D B B E C D A 

 
 

 

 

 

Fransız dili / Французский язык 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 

B D D A B B A C D B C A D C A A C D A A 
 

21 22 23 24 25 26 27 28 29 30 

B C D C B E A C B D 


